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Worksheet by Kuta Software LLC

Mgr. Vladimír Kázik

PYTAGOROVA VETA - odvesna -B
Vypočítaj chýbajúcu odvesnu:

1)

6

7

A)  43.6 B)  3.6
C)  13 D)  1

2)

9 10

A)  5.9 B)  7.4
C)  1 D)  4.4

3)

3

5

A)  16 B)  2
C)  4 D)  2.5

4)

9

13

A)  9.4 B)  12.1
C)  88.4 D)  4

5)

10 13

A)  68.9 B)  9.8
C)  3 D)  8.3

6)

5

12

A)  8.5 B)  7
C)  118.8 D)  10.9

7)

5

13

A)  144 B)  12
C)  8 D)  98

8)

4

8

A)  6.9 B)  47.6
C)  4 D)  56.3

9)

8

14

A)  14.2 B)  11.5
C)  6 D)  132.3

10)

4

7

A)  5.7 B)  7.8
C)  3 D)  32.5
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Worksheet by Kuta Software LLC

PYTAGOROVA VETA - odvesna -B
1)  B 2)  D 3)  C 4)  A
5)  D 6)  D 7)  B 8)  A
9)  B 10)  A
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